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Why is it so by — 991D 772 KPR 190D 29 19w 2907 ORDA 1A
27277 °RY>; for there is npo» for it even 777> X5w, etc.

Overview

After 777 12 °0°X taught us to derive 7R3 MO°R by 2572 w2 from a 72wn 1"
and a 21 from y»n and 0757 °X22, the X3 challenges *aX. According to
»ax who maintains that by o137 °X%5 there is Mmpon even if he ate it' 7772 Xow
1NR17, then there is a X370 on the °21° of 01277 °X%; perhaps only 07271 °X95 is
TRIT2 TIOR since it is also MOX even T172 XYW, however 122 is only 90X
7772.> Our MooIN challenges this assumption that 1122 is 7oK only 7773.

nooIN asks:
— 31:‘1:1‘1 INYSN 181 NNa ‘15’) N9 NN ©N92N )2 PRy 19%249Y NN

The X'"2w is astounded; Let us derive this very ruling of X>w 1%y P>

7775 by 2771 w2 through a 121937 7% from 29277 XD, meaning that -
— *ANIN 791 XYW 29Na qwa Yy “porw

npon should be administered for transgressing n''23 even 7837 7775 R9w.°

N1B0IN answers:
— 91515 NIINT 99905 NIPTT PNYY 13529 INIIN)

"It would seem that this proposed X370 of T172 Xow 121 P12 19w 2"79% 7n is referring to 7772 X9w 79°9% and
not 7172 XOW 1R (even though it is apparent from [2,75] 377 7"7 '0In that there is nMpon for 7172 XYW X371
[see the end 7777 12 Pt 1XT']). We are in the process of deriving X371 M0°X by 1122 (so how can there be
a X2 concerning 7770 XYW 1R (when we do not even know yet that 121 is 78372 M0OR). However
concerning "2 n?°2X we know that it is MR from the w"13; presumably it is MOR only 7175 (as 72°21 is [see
‘Thinking it over’]), therefore it is a proper X7 that 5"713 are 79282 70K even 7172 KW

* See 9" Mmoo that even though we can refute this X37°0 by saying m1n 797 that you are 2 only 7172
and nevertheless it is X172 OK; however then it would be 7777 91m (for 121 W27 NYW 737 PR W A2w7 1),
and if it is 1777 7117 it can be refuted with a 1777 95 X379, that ¥pp 2172 19w (2°X921 ,710 ,727W) 17177 7n. See
previous °X?5 77"'7 MoIN in footnote # 1.

? Just as 07977 *X92 was 7%y 12 772y and is (7XIT) 79°I82) MOK even NNIT T K9W, similarly 1"22 which
is also 7172y 12 7721 should also be (7X17721 72°382) MOR even JNRIT 172 ROV,

* See Dy X9» and YXmWw 127 (see “Thinking it over’ # 2 in previous *X%3 71"7 MoOM).

> Moo question (seemingly) is that even though »ax does reply that 122 is 7772 Xow 0K (since there is no
720K mentioned by n"23), however this view is contradicted by the jwp» who maintains that it should be
710K only 7173 since it is derived from 71%°21. The question of the X"awA is that let us assume that these two
views cancel out each other; there remains however the 11°¥» 7 from 3"735 that it should be 710X even X>w
7.

% How can the X7»3 ask (on »ax) that the 31 from 0737 °X%3 should be refuted by asking 19w 07377 °R?27 nin
INRIT 77T KOW MOR 12V P12 however by 1122 there is no 1XIT T173 R2w Mpon. This is no question; for just
as we can derive the X117 790°R by 11"22 from (the 797wn 1"p and the 17°31 from 1092 yn and) 0757 °X9), we
can also derive the MO°R of 7775 X7 by n"22 from 01577 °%2> (directly) through a (simple) 1381 7.
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And the "1 answers; that we cannot derive an 7172 X?w MK by 1"22

from 075771 °R92, for we can argue and refute the 1°xn 7 -
— A9 7ANY 923 199Y 9ayW XM YOI MUY

That a %po37 2 and y»n with which one transgressed the prohibition of
787> 92 will prove that the 1¥» 7 is not valid; for in each of these two -

- ININ 7979 NN 9ION 129N) NHYINA 9ION) S195ay 12 12V
An 7792y was transgressed and it is 799282 70K, and nevertheless it is

990K only INRT 7975, These two 010X prove that 772y 12 7721 (even) together with
72°O8 MO is no reason to receive INRIT T170 R2W NMPYn. Therefore we cannot derive M0
7775 ROW by 11"22 from 077 *K92.

mooIn explains how we know that 5p017 W and yan are 7717 only 172:
:"¥na 2905 NYIaNT

For the word 779°5K is written by both of them, and when the word 725X is
found by an M0°X there is NP7 only if it is transgressed 772,

Summary
We cannot derive an 7175 X2w 0°K by n"2a from 2"15, because there is a

731 from °"22 72VW [ODA YAM HP0IT M by whom it was also 7702y 772v1
and nevertheless it is MOX only 7772.

Thinking it over

moon asks that we should derive 7175 ROW (72°2K) by n"22 from 0737 X75.
However the 777°28% 710°R by n"22 is derived from a w'"1 to 79°23, where the
term ‘igx’ X7 is used which denotes only 7175. How can a 1°¥» nn defy a
w'na?!

7 See X"wmn that for this mo1 it is necessary to mention *"23 1°2y 72yw (otherwise it is not 7772y 12 772v1);
however this detail in not relevant to the 11°31° yr1 in the X773,

¥ The 9po171 1w killed a person and the y»n was in his possession illegally on ros.

? By %poin 7w it states in 119,83 (2°09wn) MW that 17w2a DR 298° XY Wi Hpo° 2P0 and concerning Y1 it is
written in 3,3 (X2) W that ynn 2o8° X9\

10 See ('RT) DANAR 7,7 2,72 MOIN. See 11X ,A0 WRI and 7K1 n°2. [See footnote # 5.]
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